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Find the equations of the two line pqr'dlel 0 —h - 1 + 8 = 0if the perpendicular
distance from the origin to each line s 4.
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(1) Calculate the perpendicular distance from the point (—1. —3) to the line
x—4y -2 U

(ii) The point (—1. —5) is s equidistant from the lines 3x — 4y —2=0and
3 —dy+ k= () where & # —2. Find the value of k.
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The straight lines y = k% +

(i) Find the value of k. - N

(ii) Find the point of intersection of the two lines.
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I2and 2ky = 4x + Sare perpendicular, k # 0.
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Cisthe line 4x + 3y — 5 =),
Verify that (2. —1) € ¢.
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Find the equations of the lines through the point (2. 4) which make angles of 437 with

the linex —2v—6=10. o~
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(i) A(—7.3)and B(8. —2) are two points.
Find the coordinates of the point that divides [AB] in the ratio 2
(iiy € is the line 2x + ky = 6. j ﬁfﬂp
(a) Find.in terms of k. the points where ¢ intersects thé x~axis and yZaxis.
(b) If the area of the triangle formed by €, the x-axis and the y-axis is k square
umt> nnd the value of .
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The equation
Find the€quation of the |

ds3x =2y +06=0.

in¢)perpendicular to £ that contains the point (—1. 4).
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A circle has centre (=1, 5) and passes through the point (1. 2) pe )
(i) Find the the length of the radius of the circle. / 5 ,
B (n) erte do“ 'n the e(yl;l}ngn of the urde 7 o (‘ (2) -
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Find the coordinates of the centre and radius length of the circl
Hence write down the equation of the circle with the origin
same radius length as the o eiven circle.
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. 2.3)
Find the equation of the circle with centre (2.3) and which touches the x-axis. ] 3
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Show that the line 3x — 4y + 25 = 0 is a tangent to the circle ¥* + y? = 25,
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2y + 2 x — 2y — 23 =0and
e at = ldx = 2y + 41 0 are two circles.
(i) Prove that ¢; and ¢, touch exter‘n;ﬂ[y, A
(ii) kisa third circle. . /
Both ¢, and ¢, touch & internally. i
Find the equanon ot k.
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The equation of the given circle is
(x — 1P+ (y+2)2=20

(i) Verify that the point P(3.2) is on the circle.
(i1) Write down the coordinates of C. the centre
of the circle.
(111) Hence find the equation of the > tangent to
the LllClL at the pomt P
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Points (2. 5) and (=2. 1) lie on the circle x* + y? + 2gx + 2fy+7=0.
(i) Make two equations in gandjf.

{ii) Solve this pair of ¢quations to find the values of gandf.

(iii) Hence find the equation of the circle, and give its centre and radius.
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Find the two valyes of k for which & + 3y +k=0is
x3+y2+4x—3_v—12=0.
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Karen has two 3¢ and four 10c coins in her purse. At random, she takes out one coin
and then a second coin (without replacing the first). Find the probability that
(i) the first coin is a 10c and the second coin a 5¢
(ii) the two coins are worth | 15¢
(iii) the two coins are worth 20c.

A bag contains 5 red and 4 green discs. identical in all but colour.
Three discs are drawn at random from the bag without replacement.
Find the probability that

(i) they are all the same colour

(i) at least one is red




(i) How many arrangements can be made with the letters of the word SOLDIER if

all the letters are taken at a time?
(ii} How many of these arrangements begin w uh the letters SO in that order?
(iti) How many of the arrangements begin and end with a consonant?
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(i) Give an equation involving probabilities which represents the statement ‘the
events L and M are mutually exclusive'. Explain what is meant by ‘mutually
exclusive events'.

(ii) Janelle’s mathematics class has 22 students.

Four students are selected at random to enter a mathematics competition.

(@) Inhow many ways can the four students be selected?

(b) In how many of the selections is Janelle included?

(c) Now find the probability that Janelle is included to enter the LOIHpEUtIO[l
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- Alocal football team wins 80% of its home matches. Find the probability
that (i) the first win occurs in the 4th match.
(ii) the first loss occurs in the 4th match.
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20% of the items produced by a machine are defective. Four items are chosen items are
defective. Four items are chosen at random for inspection.

(i) Find the probability that none of the chosen items is defective.

(ii) Find the probability that the first defective item is found on the 4t inspection.
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Two events E and F are mdegenden
If P(E) = L and P(F) = 1, find

(i) PE ﬂ F) (ii) P(E U F).
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From the given Venn diagram, write down

) E F
(i) P(E)
(if) P(F) -
’ (iii) P(E UF)
Now show that E and F are independent.
/——~*~-Find also P(EIF). )
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In the given wheel. you win the amount in the sector in which
the arrow stops.

It costs €10 to play the game.

How much would vou u\pccl to win or lose if you play

this game? ‘
Explain why t
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